X-OT ' o 88

Name: Section: Reg. No.
One Mark Test - 1
Standard X
SOCIAL SCIENCE
Time : 45 mts. Marks : 30
I. Choose and write the correct answer : 10x1=10
1. Who said. “imperialism is the highest stage of capitalism™?
a) Lenin b) Marx ¢) Sun Yat-Sen d) Mao Tse Tung | &
2. Which country was expelled from the League of Nations for attacking Finland?
a) Germany | b) Russia c) ltaly d) France b
3. Inthe Russo - Japanise war, Japan defeated Russia and got back ................ |
a) Danzig b) Port Arthur ¢) Sakata d) Miyako b
4. Which President of the U.S.A pursued “Good Neighbour™ policy towards Latin America?
~a) Roosevelt  b) Truman - ¢) Woodrow Wilson  d) Eisenhower | o
5.5 ccsnerconeronns was the American President in 1904.
a) Abraham Lincoln - b) Franklin Roosevelt
c) Theodore Roosevelt d) George Washington c
6. The Fascist party was founded in ........c.......
a) 1918 b) 1920 ¢) 1919 d) 1921 c
7. weveeenenn. plains are formed by the older alluviums. '
a) Bhabar b) Tarai ¢) Bhangar d) Khadar C
B. ThE . nwanwi channel separates Lakshadweep islands from the Maldives islands.
a) tendegree  b) eightdegree ¢) seven degree d) nine degree .
9. Find the odd one out.
a) RighttoEquality . b) Rightagainst Exploitation
‘c) Rightto Property d) Cultural and Educational Rights i
[ ——— safeguards people from illegal arrests. :
a) Mandamus b) Habeas Corpus
¢) Certiorari d) Quo Warranto . - ‘ b
Il Fill in the blanks: |  5x1=5
11. Inthe battle of Tannenberg v Russio. | suffered heavy losses. ‘

12. ....Emden........... was the famous cruiser which bombarded Madras in 1914.
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13, The ANC leader Nelson Mandela was put behind the bars for ....... v I RSO
vears,
14, The highest peak in South Indiais .Ahabmuels .. .........
13 R’.\em.Bel.m: ........... was the calligrapher of the Indian Constitution. _
. Match the %ﬁfmg Redtada 10x1=10
R 0. 9) Hallof Mirrors - 1) France 3
b) Kemal Pasha - 2) 1945 . g
¢) Clemencean - 3)  Turkey ' 9.
d) Tongking - 4)  Verilles | ‘
¢) Fall of Hitler - 3)  Guenllaactivities
17. a) Tsangpo - 1) Nicobarlsland 2
b Yamum - 2) 1990 5
¢) Indimapoint - 3) Tnbutaryofriver Ganga 2
d) National Emergency - 4)  River Brahmaputra in Tibet |
¢) Interstate Council - 5) 1962 4
IV. Choose the correct statement: ' 5x1=5
I8. Assertion(A) : The first European attempts to carve out colonies in Africa resulted in bloody
battles.
Reason(R) "~ : There was stiff resistance from the native population.,
a) Both(A)and (R)are correct b) (A)isright but (R) is not the correct reason
¢) Both(A)and (R)are wrong d) (R)isright butithas norelevance to (A)| b
19. Assertion(A) : Dﬁring the first three years of the | world war, the United States gave only

moral support and valuable material aid to Britain and France., ,
Reason(R) : Theyhad avery poor leadership.
a) Both(A)and (R)are correct b) (A)isrightbut (R) is not the correct reason

c) Both(A)and (R)are wrong d) (R)isright but it has no relevance to (A)
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requirements had to be abandoned or modified.

SS-1

When the first world war came to an end the industries that grew to meet war-time

i) Huge stocks had to be disposed off and large numbers of workers had to be sacked.

i) At the end of the world war 1. Germany was financially in a sound position.

Iv) America encouraged the flow of capital in to Ewrope.

a) (i) and (ii) are correct

¢) (iv)iscorrect d) (i), (i) and (1v) are correct | b

. 1) The peninsular rivers originate from the Himalayas.

b) (i), (i1) and (iv) are correct

i) The uninhabited “PittIsland™ of Lakshadweep Islands has a bird Sanctuary.

i) Aravalli Range is the oldest fold mountain range in India.
iv) Gerosappa [alls is found in the River Ganga.

a) (1)and (ii) are correct
¢) (i1) and (iii) are correct d) (1v)1is correct
Which of the following sequences is right regarding the preamble?
a) Republic, democratic, secular, socialist, sovereign

b) Sovereign, socialist, secular, republic, democratic

c) Sovereign, republic, secular, socialist, democratic

d) Sovereign, socialist, secular, democratic, republic
2. 8. 0.6 8 ¢

b) All the four are correct
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Name: - - - Section: Reg. No.

Time : 45 mts.
I. Choose and write the correct answer :

1.

10.

II.
11.

12.

13

. Sesahachalam hills, a Biosphere reserve is situated in

‘One Mark Test - 2
~ Standard X |
SOCIAL SCIENCE

The Prime Minister of Britain who signed the Munich Pact with Germany was

a) Chamberlain b) Winston Churchil
- ¢) Lloyd George d) Stanley Baldwin

The headquarters of the International Court of Justice is located at ............cccvvunnen.

. a) NewYork b) Chicago - ¢) London d) The Hague .
. In 1937, Japan imvaded Lousimnnseei and seized Beijing. '

“a) Turkey b) Russia ¢) Germany d) China

<o 19 2 line joining the places of equal rainfall.
a) Isohyets b) Isobar : c) Isotherm d) Latitudes

a) TamilNadu &f AndhraPradesh  c¢) Madhya Pradesh d) Karnataka
Wildlife Research Institute of India located at ..

a) Ludhiana b)’@hradun c) Bhopal d) Jodhpur

The longest dam in the world 1S ......ccccuveunee.
a) Metturdam b) Kosi dam

¢) Hirakud dam 'd) Bhakra - Nangal dam

. Watering of plants through artificial means ..
-a) Soilerosion b) Soil conservation c) Imgatlon d) None ofthese | C

anary sector consist of

| a) Agriculture  b) Automobiles c) Trade : d) Banking

InIndia.................. has the second rank in GDP among the states.

a) Kerala tyﬂmil Nadu cmgiharashtra d) Andhrapradesh

Fill in the blanks:

. Marks : 30
10x1=10

b

5x1=5

'RPIDRR .isadevice used to find out the enemy aircraft from a distance.

The UN Secunty Council has ....... W members.
The Indian Council of Agriculture Research was setup in India in L2 -
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- ¢) Both(A)and (R)are wrong d) (R)isright but it has no relevance to (Ao
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14. The largest sector in India i Senvice. Aseken.....
13, ‘hud«(& is the sixth largest economy of the world.
. Match the following : Toatilt
| 16. a) Volga - 1) SolomonIsland e
b) Guadalcanal - 2) National Income/Population 5
¢) Royal AirForce - 3) Agriculture &
d) Price policy - 4) Spitfires and Hurricanes -
) PerCapitalncome - ° 5) Stalingrad l
17. a) North East Monsoon - 1) GoldenRevolution 4+
b) South West Monsoon - 2)  Onion Production >
¢) Pink Revolution - 3) October - December ),
d) Horti culture - 4) Milk production S
' e) White Revolution - 5) Jlune-September o M
IV. Choose.the correct statement: ox1=5
18. )  Banking wasamajor business activityamong jews.
- i) Hitler persecuted the jews,
i) In the concentration camps jews were killed. _
) The United Nations has currently 129 member countries in it.
a) (i)and (i1) are correct b) (i) and (iii) are correct
¢) (ii1) and (iv) are correct :
d) (i)is correctand (ii), (iii) and (iv) are wrong a.

Assertion (A) In 1939, Britain and France declared war on Germany. :
Reason(R) : Hitlerbroke the Munich pactand attacked Czechoslovakia followed by Polland.
a) Both (A)and (R) are correct b) (A)isright but (R) is not the correct reason

Assertion(A) : The Himalayas act as Climatic Barrier

‘Reason(R) : The Himalayas prevents cold winds from Central Asia and to keep the

: Indian Sub-continent Warm, -
a) Both(A)and (R)are correct (R) explain (A)

" b) Both(A)and (R)are correct (R) does not explain (A) -

) (A)is correct (R) is false d) (A)is false (R) is correct
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| ) %+ Alluvial soilis formed by the deposition of eroded and decayed materials
~ ' b}rought by the rivers. ' ' '
_ Reason (R) v ¢ Paddyand wheat are grown well in the soil.

a)_ Both (A) and (R) are correct (R) explain (A)
b)" Both (A) and (R) are correct (R) does not explain (A) : -
©) (A)iscorrect R) s false d) (A)is false (R) is correct Al

. Therate of saving is low in India for the following reason.
I) Lowper capita Income.

I) Poor performance ang less contribution of bublic sector.
1IT) Poor contribution of house hold sector.

[V) Savings potential of the rural sector not tapped fully.

33/\ LILIV are correct | b) I, II'and I1I are correct .‘ _
¢) LILITand IV are correct d) I, Il and IV are correct 2~
* K kK Ak ' '
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Name: iy : e Section; s Reg..'?\"o.
One Mark Test - 3-
Standard X
" SOCIAL SCIENCE ?
Time : 45 mts. - ; Marks : 30
I. Choose and write the correct answer : , . _ o 10xt=10
1. Warsaw Pact was dissolved in the year ... e ;
~a) 1979  b) 1989 c) 1990 d): 1991 i nldl
2. Gorbachev was held under house arrest in.. N — T 455 e
a). Kazan b) Sochi | c) Volgograd d) Moscow | o
3. Who became the Chairman of the PLO’s Executive Committee in 1969? ;
a) Hafezal-Assad T » b) YasserArafat .
c) Nasser d) Saddam Hussein b
4. The most abundant source of energy is : _ :
' a) Biomass  b) Sun c) Coal d) Oil F el B
5. The first nuclear power station was setup at .............c.... near Mumbai in 1969. :
" a) Kalpakkam | b) Kaiga  ¢)RawatBhata °  d) Tarapur o
6. voooorrereeressssioeenennns 15 called as “Black Gold”. e
a) Coal b) Petroleum c) Iron d) Bauxite Qa
- 7. The Council of Ministers is collectively responsible to the a1
a) ThePresident b) Lok Sabha c) The Prime Minister d) Rajya Sabha .| |
8. The..........ccc.o..... is the Ex.officio chairman of the Rajya Sabha. :
" a) President b) Vice President c) Speaker d) Deputy Speaker | b
9. Thetermof................. was introduced by Prof. Theodore Levitt. - _
2) Privatization b) Liberalization ) Globalization ~ d) Nome . [
10. The headquarters of the World Trade Organisation (WTO) islocated at .................
~ a) Geneva b) Tc;kyo ¢) Netherland d) Ttaly o
Il. Fill in the blanks: . (615

o 1 ¥ thats b@L&?‘LOd . was the Headquarters of the Councﬂ of Europe:
12.Pn.8 UA'YM*J% was known as the “Father of Modern China”.
13. . KogunatoRo.... isthelargest producer of Silk in India.
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15. French East
. Match the following :

16. a) Ho-chi-Minh - -
'b) Ngo-DinhDiem -~
_ c)- King Hussein -
- d) Nkrumah
e) SyngmanRhee

17. a) Gypsum -
b) Bengaluru -
c) Mica -
d) Kanpur -
e) 'Tranguébar- : -

IV. Choose the c_or'rect statement:

18. Assertion(A) + America’s Marshall Plan was
The US conceived the Marshall Plan to bring the countries in

Europe under its influence.

Reason(R) -

t the Lok Sabha consists of
India company establi shed second factory.at-

1

2)
3)
4)
3)

1)
2)
3)
4)
5)

Ghana

Jordan

South Vietnam
North Vietnam
South Korea

Electronical Capital of India
Manchester of North India
Tamil nadu

Cement

Eieéuical goods

SR, members.

JOREE HEEREE

5x1=5

for reconstruction of the war-ravaged Europe.

the Western

a) Both(A)and (R)are correct but (R) is not the correct explanation of (A)
b) Both(A)and (R)are wrong ‘

) Both (A) and (R) are correct and (R) is the correct explanation of (A)

d) (A)is wrongand (R) is correct
19. ) Bythe end of Second World War, VietMi

nh controlled the néfthem half of Vietnam.

(st

i) InMarch 1946, the French and Viet Minh’s government reached an agreement by which

A /Nonh Vietnam was to be-a free state.
iy’ The problem of Indo-China soon became involvedinthe Cold War.

-1 The French were receiving considerable financ

- were helped by the new Chinese government.
b) (ii), (iii) and (iv) are correct -

a) (i)and (ii) are correct
Bﬂi)_s (i), (iii) are correct .

d)(ii)and (iv)arecorrect ; - . . [g@

ial aid from R'_L'l'séi;{,-'_"cilc Viet Minh

| . - - : ¥
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20. ) On the basis of Chemical and Physical propertles minerals are broadly grouped under .

2Ll

22.

two categories.

“1) Coal is known as Black Gold

ii)~Chennai is nicknamed as the Electronic Capital of India.
V) Blhar is the leading producer of Jute in India,

a) (i) and_ (iii) are correct - . (111) and (iv) are wrong o
c) (i), (ii) and (iii) are correct  d).(i), (i), (iii) and (iv) are wrong b
Assertion(A)  : TheRajyasabhaisapermanent House and it cannot be dissolved.

Reason (R) : One-Third of the members of Rajyasabha retire every two years and
new members are elected to fill the seats thus vacated. '

a) (A)is false, but (R) s true b) (A)is true but (R) is false
+0¥ Both (A) and (R) are true and (R) is the correct reason for (A)
d) Both(A)and (R)are true and (R) is not the correct reason of (A) | =

) First Round of GATT was held at Washmgton
II) Second Round was held at A.nncey (France)
III) Third Round was held at Geneva.

IV) Seventh Round was held at Tokyo. (Japan)

~a) Il and IV are correct b) Iand II are correct |
¢) Ill'and IV are correct d) Iand III are correct o
188,881
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Name: : Section: Reg. No.
~* One Mark Test - 4
' "« Standard X
S SOCIAL SCIENCE :
Time : 45 mts. _ ' -l ‘ ._I_Vlarks:BO
I. Choose and write the correct answer : TR T TR0 =10
1. What was the name of the Samaj founded by Dayanand Saraswati?,. | .
a) AryaSamaj b) Brahmo Samaj _
¢) Prarthana Samaj - d) AdiBrahmo Samaj o
* 2. Vaikunda Swami was respectfully called as ...........cccouuc........... by his followers.
- .a) Sir ~ b) Swami - c) Anna ' d) Ayya A
| Bl was the author of the book Satyarthaprakash.
- a) Dayvanandha Saraswathi - b) Vaikunda Samy
" ¢) AnnieBesant dy Swami Shraddhananda e
4. The main objective of the Singh Sabha was to restore the purity of ...........coeiiicivens.
a) Hinduism b) Sikhism ¢) Christianity d) Islam b
5. The National Remote Sensing Centre (NRSC) is located at .............. : WS- 1 s
a) Bengaluru b) Chennai ¢) Delhi d) Hyderabad | ¢l |
6. The.....ccooeeeeu........ €Xpress is the fastest operational train in India.
a) Shatabdi b) Rajdhani ¢) Gatiman d) Charminar C
7. InIndia the first census was carried out in the year ........oevervnievrennnnen,
a) 1870 b) 1871 c) 1872 d) 1874 c
8. The minimum age for the membership of the Legislative COUNCIES oo eeeeeeseeessemenenioene
a) 25 years b) 21 years c¢) 30 years s d) 35iyears C
9. Wch 6ne of the follbwing States doeé not possess a bicameral legislaturé‘?
a) Andhra Pradesh b) Tamil Nadu _
~c¢) Telangana . ' d) Uttar Pradesh 1
.10. The Governor of a State shall be appointed by the ......coomverevvmrienes 3
a) Prime Minister ' b) Chief Minister s : :
¢) High Court Judge - d) President ' ® o~
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Il Fill in the blanks: bx1=8
11. “Oru paisa Tamilan” was started by Igetﬁea-maﬁ
. 12, The majorl import item of Indiais %e{eum ..........
13. The State with highest literacy rate as per 2011 censtis is K@\.a.lﬂn --------------------
14. M. Fothime, Bhazwi. is the first women Governor of Tamil Nadu:
15. A statue of S Neethi kewdais seen at Madras High Court.
lll. Match the following : Chelai: - 10x1=10
16. a) Thiruvarutpa - 1) Guukulas ' 2
B) Swami Shraddhananda - 2)  Vaikunda Swamigal | 4
¢) BabaDayalDas = - 3) RamalingaAdigal \
d) Ayyavazhi - 4) Religious Decree 5i I_
e) Fatwa : - 5)  Nirankari >
17. a) Mazagoan Dock 1) 234 4
b) Northern Railway - 2) Secunderabad 2
¢) SouthCentral Railway - 3) Cannot grant for Votes 5 .
d) LegislativeAssembly - 4) Delhi ||
e) MLC - 5) Mumbai ' |
| IV. Choos:e the correct statement: - 5x1=5

18. Assertion(A) : Jyothi Phule opened orphanages and homes for widows.
Reason(R) : IJyothi Phule opposed Child Marriage and supporttd w1d0\xs remamage
~a) (A)iscorrectbut (R)isnotaptto the (A)
' ~b) (A)iscorrect and (R) is apt to the (A) ‘
¢) -Both are wrong ' d) (R)is correct but (A) is irrelevant b [
19. i) Ramakrishna Mission was actively involved in social causes such as education, health.
care, relief in time of Calamities.

ii) Ramakrishna emphasised the spiritual Union with God through ecstatic practices.
iiij Ramakrishna established the Ramakrishna Mission.

iv) Ramakrishna opposed the Partition of Bengal.
I a) (i)iscorrect U b) (i) and (ii) are correct - ¥

0). (iii)ﬁsgo_rrect d) (1v) is correct < Gt M b
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20. Assertion(A) : Thereare limitations on the Legislative authority of the State Legislature.

Reason(R) = : Certain bills on the State List can be introduced in the State Legislatuze
‘only with the presidents approval. . ;
a) -(A)isfalse,but(R)istue . b)(A)istrue(R)isfalse
-¢) Both(A)and (R) are true and (R) is the correct reason for (A) . .
d) Both (A)and (R)are true and (R) is not the correct reason of (A) e

21. 1) There are 29 states and 6 union territories and one natipnal capital territory known as
Delhi in India. | ;

1) ‘The structure of the State Government consists of three Branches.

I1I) The Governor is the constitutional head of the state exequtive.

IV) The Governor of a State can be transferred by the Chief Minister.

a) I, Il and III are correct b) Il an lII are correct

c) I,ITand IV are correct ' d) Tand IV are correct oL
. Ij The Namdhari Movement was founded by Baba Ram Singh.

II) RamalingaAdigalar founded the Vadalur Satya Gnana Sabha.

[1T) Aligarh movement was started by Sir Syyid Ahmed Khan.

IV) Ayyankali founded the Sadhu Jana paripalana Sangam.

2
2

a) landIII are correct b) Il and IV are correct
c¢) IandIV are wrong d) All the above are correct L |d
1.8.6.8.9.1
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